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Multiple choice question : Q1~Q11: 2%each ; Q12:3%

1. “I was walking in the part when suddenly an enormous mouse turned up. It
frightened me to death because it was as big as a tiger!” That’s exactly a(n)
of describing a trivial event.

(A) explanation  (B) exaggeration  (C) equalityd. (D) environment

2. To complete tomorrow’s marathon race, you had,better your energy tonight

and go to bed as early as possible.

(A) preserve (B) absorb (C) conserve (D) withdraw

3. There was a/n needs for \clean water and medical supplies after the
devastating earthquake.
(A) urgent (B) furious (€)amazing (D) brilliant

4. When the pop diva started to sing her love song, tens of thousands of fans
their lighters, waving their hands in the air, and sang along.

(A) fluttered (B) foresaw (C) flicked (D) flared

5. Yahoo! has announced that by the first half of 2010, they will with
Facebook via Facebook Connect, which means Yahoo! content will be accessible
on Facebook.

(A) inject (B) integrate (C) irritate (D) intimidate



6. The piece of clothes is because it is made with selected materials that can

stretch. I believe it’ll perfectly fit you and make you feel extremely comfortable.

Would you like to try on?
(A) expressive  (B) eventful (C) elastic (D) evident
7. Because our apartment is located near the district, which is crowded with

shoppers on weekends, it is never easy to find a quiet afterficon on weekends.

(A) harmful (B) commercial (C) decorative (D)religious

8. Credit card debt is a major problem to the society. To getsid,of thesgproblem, people
need to follow certain basic steps to put a financial/plan in place and they:will be
ableto  the debt and pay it off sooner.

(A) educate (B) eliminatg (C) emerge (D) enclose

9. On account of its successfulfadvertisement,and good reputation among Apple’s

users, the [-Pad is in high in theymarket and is one of the most-sought-after
commodities.
(A) performance (B) demand (C) loans (D) command

10. On New Year’s Eve, I the splendid fireworks of the countdown at Taipei

101. It was mueh more fun than watching it on TV.

(A) sparkled (B) negotiated (C) witnessed (D) prospered

11. The torrential rain‘brought by typhoon Morakot caused one of the greatest
in southern Taiwan.

(A) volcanoes (B) catastrophes  (C) devices (D) parachutes

12. Mariah is glad to have the support from her friends and family.
Things not turn out good if they not around to see her through her
difficulties.

(A) do, were (B) did, had (C) would, are (D) would, were
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